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(f) If b = 0 the returns on the short term and long term bonds are equal. If
b > 0 they are different. The return on the long term bond is higher if s; = 0 and
lower if s; = 1. Also the returns (both short and long) are procyclical, since they
are higher if s; = 1. The returns are higher if s; = 1 and 7 (8441 =118, = 1) is
larger.
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For instance if the cross-sectional conditional variance is
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This equation of consumption is similar to the equation of a representative-
consumer economy, but with the risk aversion coefficient modified. If an econo-
metrician were to estimate a representative agent’s pricing equation without
explicitly accounting for consumer heterogeneity, the econometrician would be
either overestimating or underestimating the subjective discount rate and the
risk aversion coefficient. For instance if the variance of the cross-sectional distri-
bution of consumption growth increases in economic downturns (Cy/Cy—1 < 1,
i.e. a < 0) the econometrician who does not take into account the consumer
heterogeneity in estimating equation (2) would be overestimating the true risk
aversion coefficient. In other words, the risk aversion that must be used for pric-
ing, 7, is larger than -y, which might help explain puzzles, like the risk premium
puzzle.
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